
SECTION II TM 55-2210-224-24P

Figure 10.  Window, Fixed.



SECTION II TM 55-2210-224-24P

GROUP 02 CAB GROUP

FIG. 10 WINDOW, FIXED

1 34439 PP-C9238 WEATHERSTRIP FILLER V
2 34339 PP-C9233 WEATHERSTRIP V
3 81348 DD-G-451 GLASS, 1/4 IN V
4 96906 SCREW, CTSK (NSN 5305-00-754-4529) 11
5 UPPER TRACK, 5 FT LONG V

6729158184820 LATCH,SASH 1
7 SASH 1
8 SASH 1
9 LOWER TRACK 1

10 34439 PP-C9238 WEATHERSTRIP FILLER V
11 34439 PP-C9233 WEATHERSTRIP V

END OF FIGURE

(5)

QTY

(4)

DESCRIPTION AND USABLE ON CODE

(2)

FSCM

(3)
PART

NUMBER

(1)
ITEM
NO.

10-1



SECTION II TM 55-2210-224-24P

Figure 11.  Window Front.



SECTION II TM 55-2210-224-24P

GROUP 02 CAB GROUP

FIG. 11 WINDOW, FRONT

1 96906 MS90725-58 SCREWS, 5/16 X 3/4 (NSN 5305-00-281-9336) 6
2 SHIELD, RAIN 1
3 96906 WINGNUTS, 3/8 IN (NSN 5310-00-827-8487) 2
4 96906 MS35338-46 WASHER, 3/8 IN 2
5 96906 MS90725 SCREW, HEX 1/4-20 (NSN 5305-00-071-2241) 4
6 96906 MS35338-44 WASHER, LOCK, 1/4 IN 4
7 FRAME 1
8 34339 PP-C9233 WEATHERSTRIP FILLER V
9 34339 PP-C9238 WEATHERSTRIP V

10 81348 DD-G-451 GLASS, SAFETY, 1/4 IN V

END OF FIGURE

(5)

QTY

(4)

DESCRIPTION AND USABLE ON CODE

(2)

FSCM

(3)
PART

NUMBER

(1)
ITEM
NO.

11-1


